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1(20’), (1), Qã¿y²RieszÚn.
(2), �X´D��5�m. eX¥?�k.8Ñ´�;8,
KX�k���m. Á|^RieszÚny²�.

2(10’), � M ´Hilbert �m H ��56/. y²: (M)⊥ = M⊥

Ú M = (M⊥)⊥.

3(25’), (1), Qã¿y²��k.½n(�´½n).
(2),�X, YÑ´D��5�m,X 6= {0}. y²: eL(X, Y )´Banach
�m, KY7´Banach�m.

4(10’) � X ´ Hilbert �m, {xn}∞n=1 ⊂ X, x ∈ X. y²: xn → x

��=� xn
w→ x �‖xn‖ → ‖x‖.

5(25’), �D��5�m C[0, 1], é?¿� x ∈ C[0, 1] Ù�ê�
‖x‖ = max0≤t≤1 |x(t)|. ½ÂÙþ��f T, S ©O�

T : x(t) 7−→ tx(t),

S : x(t) 7−→ t

∫ 1

0

x(t)dt.

(1), ¦�ê ‖T‖, ‖S‖, ‖TS‖ ±9‖ST‖.
(2), ¦T�Ì8: σp(T ), σc(T ) Ú σr(T ).

6(10’), -`2 = {x = (xi) |
∑∞

i=1 |xi|2 < ∞}, �ê½Â� ‖x‖ =√∑∞
i=1 |xi|2. �{ai}���½ê�, ½Â�f

T : (x1, x2, x3, ...) 7−→ (a1x1, a2x2, a3x3, ...).

KT´;�5�f��=�limn→∞ an = 0.
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